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Pointing to a woman, Kapil said, “She is the
only daughter of my wife's father's only
child.” How is the woman related to Kapil ?
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a) Father

b) Daughter

c) Wife

d) Husband

e) None of these




Pointing to a man, Rohini said that his wife is
the only daughter-in-law of my father-in-law
Mahesh. How Is the man related to Mahesh?
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a) Son

b) Uncle

c) Father

d) Bother

e) None of these




Introducing a man, a woman said his
brother's father i1s the only son of my
grandfather. How Is the woman related to
this man?
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a) Brother

b) Sister

c) Cousin

d) Daughter

e) None of these




Introducing a man, a woman said he is the
son of my grandfather’s only son. How is the
man related to this woman?
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a) Mother

b) Brother

c) Cousin

d) Either 2 or 3
e) None of these




There are seven members A, D, K, L., R, S and
V in a family which consists of three
generations. D is the only son of A, who is son
of K. S is the brother-in-law of K, who has no
siblings. L. has three grandchildren. Gender of
L and V is different.
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There are seven members A, D, K, L., R, Sand Vin a

family which consists of three generations. D is the
only son of A, who is son of K. S is the brother-in-law
of K, who has no siblings. L. has three grandchildren.
Gender of L. and V is different.

How is R related to S’s brother?

a. Daughter-in-law

b. Daughter

¢. Grand daughter

d. Sister

e. None of the above



There are seven members A, D, K, L., R, Sand Vin a

family which consists of three generations. D is the
only son of A, who is son of K. S is the brother-in-law
of K, who has no siblings. L. has three grandchildren.
Gender of L. and V is different.

How is A related to V?

a. Son

b. Father

c. Brother

d. Brother-in-law

e. None of the above



There are seven members A, D, K, L., R, Sand Vin a

family which consists of three generations. D is the
only son of A, who is son of K. S is the brother-in-law
of K, who has no siblings. L. has three grandchildren.
Gender of L. and V is different.

Who is the grandmother of V?

a. S

b. L

c. K

d.D

e. None of the above



There are seven members in a family A, B, C, D, E, F
and G which consists of three generations. There is
only one married couple in the family. The least
number of persons in the family is only in 3rd
generation. A is the only son of B, who has three
children. F is the brother in law of C, who is father
of G. E is the paternal aunt of D. G is not the mother
of D.
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There are seven members in a family A, B, C, D, E, F
and G which consists of three generations. There is
only one married couple in the family. The least
number of persons in the family is only in 3rd
generation. A is the only son of B, who has three
children. F is the brother in law of C, who is father
of G. E is the paternal aunt of D. G is not the mother
of D.

How is F related to E?

a. Father

b. Paternal Uncle

¢. Maternal Uncle

d. Brother

e. None of the above



There are seven members in a family A, B, C, D, E, F
and G which consists of three generations. There is
only one married couple in the family. The least
number of persons in the family is only in 3rd
generation. A is the only son of B, who has three
children. F is the brother in law of C, who is father
of G. E is the paternal aunt of D. G is not the mother
of D.

How is D related to mother of G?

a. Son

b. Either C or E

¢. Grand daughter

d. Daughter in law

e. Grandson



There are seven members in a family A, B, C, D, E, F
and G which consists of three generations. There is
only one married couple in the family. The least
number of persons in the family is only in 3rd
generation. A is the only son of B, who has three
children. F is the brother in law of C, who is father
of G. E is the paternal aunt of D. G is not the mother
of D.

How is A’s father related to D, if D is a female?

a. Paternal Aunt

b. Mother

¢. Grandfather

d. Maternal Aunt

e. None of the above



There are six members D, K, L, M, Q and R In
a family. Q is the father-in-law of L. K is the
only son of D and is not married. D is the
brother of R. Gender of R and M is same. L
has at least two children. Q has at most 2
children
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There are six members D, K, L, M, Q and R In
a family. Q is the father-in-law of L. K is the
only son of D and is not married. D is the
brother of R. Gender of R and M is same. L
has at least two children. Q has at most 2
children

How is L related to M?

a. Mother

b. Sister

c. Daughter

d. Sister-in-law

e. None of the above



There are six members D, K, L, M, Q and R In
a family. Q is the father-in-law of L. K is the
only son of D and is not married. D is the
brother of R. Gender of R and M is same. L
has at least two children. Q has at most 2
children

How is R related to Q?

a. Son

b. Sister

¢. Mother

d. Daughter

e. None of the above



There are six members D, K, L, M, Q and R In
a family. Q is the father-in-law of L. K is the
only son of D and is not married. D is the
brother of R. Gender of R and M is same. L
has at least two children. Q has at most 2
children

If C is the only son-in-law of Q, then how is C
related to M’s father?

a. Son-in-law

b. Brother

c. Father-in-law

d. Brother-in-law

e. None of the above



There are six members C, D, K, L, M and R in
a family, which consists of three generations.
There are two couples in the family. R is the
father of C, who is the father of M.C has no
brother. K is the mother-in-law of D. Neither D
nor M is male. L is the sister of C.

Uk IR A B @& C, D, K, L, M 3R R T,
R o difear 21 ufar § 2 .ig 8 R, C &0
fuar 2, St M =1 fUaT 8 1 C 1 g 918 T2 2
K, D &1 99 g1 T a7 D 3R 7 & M 9&9¢l L, C
T = 2



There are six members C, D, K, L, M and R in
a family, which consists of three generations.
There are two couples in the family. R is the
father of C, who is the father of M.C has no
brother. K is the mother-in-law of D. Neither D
nor M is male. L is the sister of C.

How is L related to D?

a. Aunt

b. Sister

c. Daughter

d. Sister-in-law

e. None of the above



There are six members C, D, K, L, M and R in
a family, which consists of three generations.
There are two couples in the family. R is the
father of C, who is the father of M.C has no
brother. K is the mother-in-law of D. Neither D
nor M is male. L is the sister of C.

How is M related to D’s husband?

a. Daughter

b. Sister

c. Grand Daughter

d. Niece

e. None of the above



There are six members C, D, K, L, M and R in
a family, which consists of three generations.
There are two couples in the family. R is the
father of C, who is the father of M.C has no
brother. K is the mother-in-law of D. Neither D
nor M is male. L is the sister of C.

How K related to L?

a. Daughter

b. Sister

¢. Mother

d. Niece

e. None of the above



There are six members M, Q, R, S, T and V in
a family which consists of three generations. Q
is the daughter-in-law of M.R is the only son of
S, whose mother has a sibling. M has more
than one son. T is a female member. S is not
the uncle of R.
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There are six members M, Q, R, S, T and V in
a family which consists of three generations. Q
is the daughter-in-law of M.R is the only son of
S, whose mother has a sibling. M has more
than one son. T is a female member. S is not
the uncle of R.

How is T related to S?

a. Sister

b. Daughter

c. Aunt

d. Sister-in-law

e. None of the above



There are six members M, Q, R, S, T and V in
a family which consists of three generations. Q
is the daughter-in-law of M.R is the only son of
S, whose mother has a sibling. M has more
than one son. T is a female member. S is not
the uncle of R.

How is V related to R?

a. Sister

b. Uncle

¢. Grandfather

d. Can’t be determined

e. None of the above



There are six members M, Q, R, S, T and V in
a family which consists of three generations. Q
is the daughter-in-law of M.R is the only son of
S, whose mother has a sibling. M has more
than one son. T is a female member. S is not
the uncle of R.

How R related to V?

a. Sister

b. Uncle

c. Nephew

d. Son

e. None of the above
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